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Instructions : Attempt all questions.
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1. Name the important nutritive constituents of food available in
vegetables with one example of each in 125-130 words and mention the
role of vitamin-A rich vegetables (in 50 — 60 words) in our diet. 4+2=6
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2. Name the following : Gx1=6
(a) A self-pollinated vegetable crop
{(b) Cause of ‘buttoning’ in cauliflower
(¢}  Place of origin of potato
(d) An improved variety of okra
{e)  An unusual vegetable crop of cole crops of vegetables
(f) A physiological disorder of tomato
frefafaa & am € .
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3. Mention the botanical name, an improved variety and seed rate per

hectare of the following vegetable crops : Pxd=6
(a) Pumpkin
(b) Tomato
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4, Write in 50 — 60 words on each of the following : - 3x8=6
(a)  Vegetable nursery .
(b)  Vegetable garden for seeds e i

(e} A cash crop of vegetables
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5. Give one major point of difference and ene point of similarity in each
of the following pairs : 3x2=6

(a) Onion and Leek

(b)  Market garden and Truck garden

(¢}  Powdery mildew and Downy mlldew
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